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4. What do you mean by time- series analysis ? Explain

the methods of measurement of long term trend. 16

Fre-sof frzemor Q&g wT THsE § ? e
ygfty & "o 1 R &1 9o e

5. From the following data, calculate seasonal variation

by ratio to moving Average Method : 16

frfaRad sffmel @ @ g argua faf & A

. What do you understand mecasurement of

. Bag'A' contain 2 white and 4 black ball, Another Bag

Redf=/amad faeRor g S

Year | Summer | Monsoon | Autumn | Winter
o M | A9gE | waws | ¥
L 68 62 i 63
5 65 58 56 61
B 6B 63 63 67
a. 70 59 56 62
5 60 55 51 58

5 PR

(4)
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probability ? Explain various school of throught of
probability. , 16
qifear & A QY T FEI & 7 Wiidr @l
fafr= RarRaRET @ R S |

'B' contain 6 white and 7 black ball. A ball is
transferred from the Bag 'A' to Bag 'B', then a ball is
drawn from bag 'B". Find the probability that its will be
white. | 16
AT S 2 BT g 4 Bl IS F TR A B H 6
e 9 7 Bt A ¥ ue AT d9 A § B H
siaRa wx & TE, 39 9g I B A T S
frerel | 89 el TE g B g B B Wil

5) P.T.0.



